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We would appreciate a lot of helps from other groups
especially Ralf, Felix, Volker, Leif, Oliver and Serguei!




General information

Z scan, @ =0° B=1T, E=230V/cm (Run 19972 - 19985 )
H20 ~ 70ppm, OZ2 ~ 60 ppm

MarlinTPC framework used.

2000 events analyzed. (20000 events taken.)

single module analysis (w/ gate, single RCU)
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Beam trajectory shown by pad- and row-numbers
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Charge Sum (Module3 Row16)
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Drift
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Diffusion constant
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Pad Response (Module3 Row16)
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Residual (X) for each row
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Point resolution (X)
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Point resolution (X) with data w/o gate
GM Resolutin (Module3 Row16)
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Hit efficiency (Module3 Row16)
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Conclusion:
We think we have successfully taken data.

Preliminary results look promising, but
there are several things to be understood.

We're going to start more comprehensive
analyses. Stay tuned! e
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BSackup



Details for analyzers:

parameters in the reconstruction steps
(PulseFinderProcessor)

MinimumPulseHeigh : 3

MinimumPulselLength : 2

TimeCalculationMode : default (using Inflexion point)
(RowBasedHIitFinderProcessor)
MinMaxPulseSliceHeightOverride : 12
(TrackMakingKalmanFilterProcessor)

MaxDeltaChi2 : 600
MaxSkipRows : 5
MinTrackHits : 10

<— Kalman-filtering again to remove effects from

RootFileProcessor . . .
( ) bad channels and retrieve track information.

SkipRows : 0, 22, 27
(meaning that you put artificially a large error on hits on

those pad rows that are covered by the GEM frames or have bad
channels within the beam trajectories.

This Is important to avoid having bad effects on tracks.)



Hit efficiency estimation A track

ooked at row-16 (module 3) ;
Row 23
7 to avoid I
rows away to avoil Row 16 5

effects by the diffusion.

Basic idea - Row O [

Test If Row16 has a hit associated with a track
that has hits both on Row9 and RowZ23.

To reduce biases, minimum number of hits per track
IS set to be a relatively small value (=10)
In the track reconstruction step.
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Point resolution (Z)
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Hodoscope effect?? Why?



